HEADER LOG CORNING ICE GUARD MEMBRANE(OR EQUIVALENT) 1x6 TRIM

3"-4" GAP(TYP.) FILL W/

INSULATION LOOSELY PACKED — ] FIELD APPLIED EXTENSION JAMB

OUTSIDE INSIDE
2x_ JAMB WINDOWNW

/T HEAD DETAIL

1
\3/ SCALE:1 1/2"= 1-0"

INSIDE — 1x6 TRIM
1x_ RETURN IN KEYWAY

FIELD APPLIED EXTENSION JOINT
2x6 KEY IN CLEARANCE SLOT
>< 2x_ JAMB

- WINDOW
FILL N/ INSULATION
1/4"ROUND STOP OR EQ.

2X6 TRIM
FLATTEN AS NEEDED

OUTSIDE

7\ WINDOW JAMB DETAIL

2
\3/ SCALE: 1 1/2"= 1-0"

/ (2)#10 SCRENS(TYP.) 1" IMBED MIN.
af
* e —_— S — S — — S - S N = =i
©
_!
\}}
?,_I_I_FI_I_I_FI_I_I_I_I_FI_FI_FI_FI_I_I_FI_FI_H_-$
+ |-
4" MAX,
>\ TYP. GUARDRAIL DETAIL
\?:/ SCALE: 3/4"= 1'-0"
REFER TODETAILD16 4D 17 ] VERTICAL #5 BAR @ 16" OC.
FOR TOP OF FOUNDATION WALL » /
B
I A
o
B ;/ DAMPPROOF FOUNDATION
#4 BARS 30"@ 16" OC. b
R
6" B g
B HORIZONTAL #4 BAR @ 12" O.C.
SO
EXPANSION JOINT MATERIAL ‘-.‘_’_ :
2=
K| WASHROCK 1 CU/FT/FT
| WRAPPED IN MARAF|
CONCRETE SLAB(SEE PLAN) \ N
N .';_7'.
NIRRT R T B
SABEEE BN H FOOTING(SEE PLAN)
. N
Z
<
|
L
%
w PER PLAN
o ALTERNATE LEGS

/™ FOUNDATION WALL DETAIL
W SCALE: 3/4"= 1'-0"

#3 TIES @ 10" O.C. 1'-0" (4)#5 VERTS.
z
>
D

e ..'V::
[
| CE
S i
—
g1
AN Lot N
| SRS | ‘:E
R
e b
o SR § 2)
: g B u_[
|| S | u
A | 3 =
e 8
I | m
A w
Zz — vy
4 SN B ¢
- Tl v v
o b ———— . —
4 L v
e o

(4)45 BARS 24"

R PER PLAN REBAR(SEE PLAN)

=\ PAD TO PIER CONNECTION
U SCALE: 3/4"= 1'-0"

LOG POST(SEE PLAN) STEEL KNIFE PLATE 1/4"'x4"x 1'-2"
\ W/ (2)3/4" DIA THRU BOLTS
o —
p— —'— —f
3/16 o I N
- I ©
\ﬁ S i E——
%
'j '_J._ RN
T
1/4"x8"x8" STEEL BASE PLATE W/ / } . VL : BITUTHANE
(4)1/2"DIA. X 4 NELD STUBS @ 4"GAGE /.|

(4)#5 VERTS.

#3 TIES e 10"O.C. \ CONC. PIER(SEE PLAN)

7\ LOG POST TO PIER DETAIL
U SCALE: 3/4"= 1'-0"

4" THICK CONCRETE SLAB

yd
OVER SLAB PREP PER PLAN VIEW b
Q
XV':_: 'Z‘.’ﬁ Lo {V_Z e oo v DU NN .Z o] ;
oQ w
NN BN
F 1 ’
N
ROUN I 2
#4 BARS TB e 16"O.C. VERT. ol I MR 77
ol e
6” ] V‘\ 8—1
& #4 BAR @ 12" O.C. HORIZ o)
N : w
ALTERNATE LEGS N z
o <
N B k=
Sl e 8
FOOTING(SEE PLAN) N WASHROCK 1 CU/FT/FT I
o B NWRAPPED IN MARAF| b
— 1
Z
L
7 PERIMETER DRAIN 4"
v PERFORMATED
E PER PLAN PVYC SLOPED 1%

MIN. TO DAYLIGHT

/7 CONC. SLAB TO WALL CONNECTION

1
1

u SCALE: 3/4"= 1'-0"

REFER TO M.L.H. CONSTRUCTION MANUAL FOR ALL DETAILS NOT SHOWN ON THESE PLANS

5/8"x 10" ANCHOR BOLT @
36"O.C. N/ 2x2x3/16 WASHER

]L\ STUD WALL W/ 2x&'S @16" O.C. & &d
NAILS @ 4" O.C.(EDGE) ¢ 12" O.C.(FIELD)

EXPANSION JOINT MATERIAL PT.2x® N/ 8dNAILS @ 6" OC.

(2)#4 BARS- T¢B

4" THICK CONCRETE SLAB f— Z
OVER SLAB PREP PER PLAN VIEN RN I >
D o & R

Xv: ':'::f.:v':::' -:V':':::'V.:. ':::'-: 7 RS : "::".A/ z

R - L v 5

0

#4 BARS TBe 16"O0.C. VERT.

6”

ALTERNATE LEGS

FROST LINE DEPTH

FOOTING(SEE PLAN) 400 WASH ROCK 1 CU/FT/FT
1 3 AWRAPPED IN MARAFI

PERIMETER DRAIN 4"

PERFORMATED
PER PLAN PVC SLOPED 1%
MIN. TO DAYLIGHT

PER PLAN ,

o\ CONC. SLAB W/ EXPANSION JOINT
\y SCALE: 3/4" = 1'-0"

5/8" DIA. ANCHOR BOLT @ 48" O.C.

/ SEE SHEARWALL SCHEDULE

PRESSURE TREATED 2Xx6 CONCRETE SLAB(SEE PLAN)
R /
_N
T T _ . . T N
e seEgeTeieTe s UM U .'.:.e.e:.e.-. ey 9
SIS SESTSTS ST

(3)#4 BARS CONT.

-\ THICKENED SLAB TO FRAME WALL
U SCALE: 3/4"= 1'-0"

(2)5/8" DIA. ANCHOR BOLT @ 48" O.C. POST TO MATCH ABOVE(6Xx6)

4" CONCRETE SLAB(SEE PLAN) 'SIMPSON' ABUG6

VAPOR BARRIER (4)#4 DONWELS

T R \ Cg D A 1. PR BN _.’ S T gt e e s e

4" COMPACTED FTG. WIDTH(SEE PLAN)
STONE BASE(TYFP.) I ’

72\ THICKENED SLAB TO COLUMN
U SCALE: 3/4"= 1'-0"

REINFORCING(SEE PLAN)

FACE OF WALL FOOTING STEP DOWEL, SEE FND DETAILS
‘ FOOTING TOP REINFORCING

3"CLR.

A TOC.

3" CLR,

STD LAP, TYP. 4

SEE PLAN FOR WALL REINFORCEMENT

(> FOOTING STEP DETAIL

11
U SCALE: 3/4"= 1'-0"

Plans Prepared By:
Eric Bachofner
BigFish Drafting
3250 U.S. Hwy 93 S.
Kalispell, MT 59901
Office: (406) 752-2992 Cell: (406) 261-1567
BigFish Drafting Is A Division Of:

14
O
LL
2]
<
<
=l
o
LU
=
o)
I
o
®)
-
(a]
L
m
14
O
/2]
=
O
-
2]
-
o

Q
O
‘=
o
>
o
=
&
o3
>
c
=
0
—

Job Number
Plot Date

Released

12

Of 17 Sheets




	12 DETAILS

